l—|PE_CIEFOZ_X—Zapfen—EmpfindIichkeit Ymax(M)=
I'ro2_x,1M=B11XFo2_x,1M)+B12Yro2_x,1N)

2,0 Byj

100 --~--

+B13Zr02 x,1(A)
0,2105 0,8550 -0,0398=570

P60:3T Fo2_x,1(A)=22,68
XFOZ_X,1:0’3217
Yro2_x,1=0,3315

500 600

WellenlangeA /nm

BG450-1A 1




l—|PE_CIEFOZ_X—Zapfen—EmpfindIichkeit Ymax(M)=
I'ro2_x,1M=B11XFo2_x,1M)+B12Yro2_x,1N)

2,0 Byj

100 --~--

+B13Zr02 x,1(A)
0,2105 0,8550 -0,0398=570

P55:5T £gp_x,1(A)=22,76
XFOZ_X,1:0’3327
Yro2_x,1=0,3410

500 600

WellenlangeA /nm

BG450-1A 1




l—|PE_CIEFOZ_X—Zapfen—EmpfindIichkeit Ymax(M)=
I'ro2_x,1M=B11XFo2_x,1M)+B12Yro2_x,1N)

2,0 Byj

100 --~--

+B13Zr02 x,1(A)
0,2105 0,8550 -0,0398=570

P50:3T Fo2_x,1(A)=22,90
XFOZ_X, 1:0 ,3460
Yro2_x,1=0,3518

500 600

WellenlangeA /nm

BG450-1A 1




HPE_CI EF02_X-Zapfen-Empfindlichkeit yyax(A)=

I'ro2_x,1M=B11XFo2_x,1M)+B12Yro2_x,1N)

+B13Zr02 x,1(A)

2 Blj 0,2105 0,8550 -0,0398=570

P45:5T £p_x,1(M)=23,11
XFOZ_X,1:0’3625
Yro2_x,1=0,3640

e Tt b

500 600

WellenlangeA /nm

BG450-1A 1



HPE_CIEF02_X-Zapfen-Empfindlichkeit y,4(A)=

I'ro2_x,10)=B11XFoz_x,1M)+B1Yroz_x,1(A)

+B1gZroz_x,10)

2,0} Blj 0,2105 0,8550 —-0,03948=570

P40:3T roy x 1(N)=23,45
XFo2_x.1=0,3831
Yro2_x,1=0,3775

400 500 600

WellenlangeA /nm

BG450-1A 1



HPE_CIEF02_X-Zapfen-Empfindlichkeit y,4(A)=

I'ro2_x,10)=B11XFoz_x,1M)+B1Yroz_x,1(A)

+B1gZroz_x,10)

2,0} Blj 0,2105 0,8550 —-0,03948=570

P35:5T oo x 1(\)=23,99
XFo2_x.1=0,4088
Yro2_x,1=0,3916

400 500 600

WellenlangeA /nm

BG450-1A 1



HPE_CIEF02_X-Zapfen-Empfindlichkeit y,4(A)=
I'ro2_x,10)=B11XFoz_x,1M)+B1Yroz_x,1(A)
+B1gZroz_x,10)

2,0} Blj 0,2105 0,8550 —-0,03948=570
P30:3T rop x 1(\)=24,93
Xpo2_x.1=0,4412
Yro2_x,1=0,4051

400 500 600

WellenlangeA /nm

BG450-1A 1



HPE_CIEF02_X-Zapfen-Empfindlichkeit y,4(A)=
I'ro2_x,10)=B11XFoz_x,1M)+B1Yroz_x,1(A)
+B1gZroz_x,10)
2,0 By 02105 0,8550 -0,0398=570
P25:3T £op_x {(A)=26,64
XFo2_x.1=0,4815
02_x,i=0,4147

400 500 600
WellenlangeA /nm

BG450-1A 1



